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2.2 1 import matplotlib.pyplot as plt
— | plplt.grid();plt.axis('equal’);
204{-® - *
19 J plt.plot(2,2,marker='o',color="red")
plt.scatter(3,2,marker="*',c="blue’,s=600)
Eh plt.scatter(2.5,2,5s=150)
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import matplotlib.pyplot as plt

plt.grid()
plt.plot([1,2,1]) # plot([0,1,2],[1,2,1]) &£REIL

plt.plot([2,4,3],[2.5,2,2))# IEFF I3 &

def line(a,b,color):

#RME IR Z5I<EE
(ax,ay)=a; (bx,by)=b
plt.plot([ax,bx],[ay,by],color=color)

line((0,0),(4,0),'black’)
line((0,-1),(0,3), red")
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° | import matplotlib.pyplot as plt; import numpyasnp
L75 7] ' ! “ax = plt.figure().add_subplot(aspect="equal')
150 4- _ o ax.set_xlim(-0.2, 1.2) #ax.set_ylim(0.5, 3.2)
O ! plt.grid()
125 1 : defy(x):
!  return 2*x+1 # BAEK y(x)=2*x+1 DEE
1.00 '? | T Xs = np.arange(0.0,1.1,0.2) #[0.0, 0.2, 0.4, 0.6, 0.8, 1.0]
! ! Lot forxinxs:
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LT DA< DIZHREE & aef triangle(a,b,c):

line(a,b); line(b,c); line(c,a)

I'I

|mport matplotllb pyplot as plt

def parallelogram(a,b,c): 0

d = add(a, minus(c,b)) 25 -

line(a,b);line(b,c);line(a,d);line(d,c) 20 -
def add(a,b): # a+b

(ax,ay)=a; (bx,by)=b; return (ax+bx,ay+by)
def minus(a,b): # a-b

(ax,ay)=a; (bx,by)=b; return (ax-bx,ay-by)
parallelogram((1,1),(2,3),(3,2)) 00 -
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import matplotlib.pyplot as plt, numpy
plt.grid()

X = numpy.arange(-2, 2.1, 0.2)
#[-2.0,--1.8,-1.6,...,0.0,0.2,...,2.0,2Q,24, X
plt.plot(x,x**2,color="'black’)

import matplotlib.pyplot as plt, numpy

X= numpy.arange(-2,2.1,0.1)

plt.plot(x,x**2,color="black’)

foriinrange(1,3): #[-2,2] D2ZF N M o4FENFET
delta = 4/2**j
X = numpy.arange(-2, 2+delta, delta)
plt.plot(x,x**2)
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import matplotlib.pyplot as plt, numpy as np

delta=2*np.pi/40; #

)
X =rcosé@ plt.grid(); plt.axis(‘equal’)
Y = rsin @

1xd)iéé/\ 0 27'[/40

theta=np.arange(0,
#0, 90,20, ...,

def circle(r):

*np.pi+delta,delta)
2] : AEDZEILEZ <Y numpy ECFI

plt.plot(rnp.cos(theta),r*np.sin(theta))

# xEHDEAE : [r=r*cc
# yERADZZAL : [0=r*si

)s 0, r*cos 6, r*cos 2 6, ..., r*cos 2m =r]
no,r*sind, r*sin2§, ..., r*sin 2 =0]

. . —circle(2)—
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15 - g a=1.5; b=1
xrange=np.arange(a,-a-0.01,-0.01)
10 - b def ellipseByExp():
' plt.plot(xrange,ely(xrange))
def ely(x):
051 return b*np.sqrt(1-(x/a)**2)
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~ plt.plot(xrange,ely(xrange))# XEH D _E
—0.5 - plt.plot(xrange,-ely(xrange));# XEh D T {8l
—1.0 - R o
FZF a=1.5 DAZDALTI=F
-1.5 - <

-2 1 D 1 2



2 2

AE: T+ = 1 (ZEEMAEIHEN - EALIH0

b
|
EMAOMNEAOMRB LD SZEMLEIDL,
XEhZ5t8zL, ¥5ADX EE1E acos %155
a’cos?0 ,
y? = b* (1 - ) = b?%sin’0
ﬁ T
acos B <X:CI,COSH R
— bsin BEOZBEIZIYIEAZE:
‘y { dA—F%&EMItE L.
=BIZ, NEREAERL
ol RFICHE S, B AR
jt MENERRLELELD




EE1. 3 ADEHEARNRS (HFEE)

np.cos(theta) = ...., cos 6;, cos 0;, 1, ...] import matplotlib.pyplot as plt, numpy as np
: : : plt.axis('equal’)
np.sin(theta) =1 ...., sin @;, sin 0;,4, ...] def drawCircle(delta,color):

theta =
100 - i
np.arange(0,2*np.pi+delta,delta)
045 1 plt.plot(np.cos(theta),np.sin(theta),color=color)
0.50 - drawCircle(2*np.pi/10,'red")
drawCircle(2*np.pi/50,'green’)
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